CLASSIFICACAO FINAL

(publicado em 11/01/2021)

CATEGORIA MICRO ACADEMY

12 PROVA - PORTIMAO

23 PROVA - PORTIMAO

33 PROVA - VIANA

42 PROVA - VIANA

52 PROVA - BRAGA

62 PROVA - BRAGA

72 PROVA - BALTAR

82 PROVA - BALTAR 92 PROVA - BRAGA 102 PROVA - BRAGA
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1 10 AFONSO LOPES NP O NP O o|nve 0 NP O o|: 275 1 27,5 550/ 2 260 2 260 520|2 260 1 275 535|: 275 1 275 S550|: 275 1 275 55071 275 2 260 5351 550 2 520 1070|: 550 1 550 110,0 541
2 5 CESAR MAQUIEIRA VIDAL NP O NP O o|nv 0 w0 o|> 260 2> 260 5201 275 1 2755 550[3 250 3 250 500(vC O 2 260 260(0Q 0 DQ O o|2 260 1 275 5354 49,0 nc 00 4902 520 4 49,0 1010 387
3 7 MARIO SILVA LORA NP O NP O 0 |NF O NP O 0 [N 0 NP O 0 |0 NP O 0 |0 NP o 0,0 | NP o NP o [ 2 26 2 26,0 52,03 250 3 250 500| 3 500 3 500 100,0| 4 490 3 50,0 99,0 301
4 17 DUARTE LOPES ALVES NP O NP O 0 [N O NP O 0 [N 0 NP O 0 |0 NP O 0 |0 NP o 0 |NP o NP o 0 |NP o NP o 0 NP o NP o [ 2 52,0 4 49,0 101 | 3 50, 2 52,0 102 203
5 20 PABLO RODRIGUEZ NP O NP O 0 |NF O NP O 0 [N 0 NP O 0 |0 NP O 0 |0 NP o 0 |NP o NP o 0 |NP o NP o 0 NP o NP o 0 |DQ o 1 55,0 55 5 48, NC [ 48 103
6 44 GUSTAVO CUNHA NP O NP O 0 |NF O NP O 0 [N 0 NP O 0 |N 0 NP O o 1 27,5 2 260 535|2 260 NC O 26,0| NP o NP o 0 |nP o NP o 0 |nP o NP o o NP [ NP [ [ 80

DQ - Desclassificado (este resultado pode ser descontado)

NP - N&o participou
NC - Néo se classificou
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